Review of the Derivative Rules

Find each derivative function, Apply the product, quotient, chcun and trigonometric rules

as appropriate.
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13. Wm‘e the equa’rlon of the line tangent to the curve y = 3x° - 2x + 4 at (2, 24)
g = A~ y - Bu(x-2)+ 2y
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14. Write the equaTﬁi}on of the line tangent to the curvey = ¥3x+ 4 at (7,5)
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15. An object thrown vertically up with an initial velocity of 64 ft/sec from a building 96

feet high satisfies the position functiony = -161° + 64t + 96.
a) Explain each coefficient.
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